
   
 

Espar Airtronic D5 Marine Heater Kit Contents 

P/N: 20.2823.61.0900 

Qty Description Qty Description 

   Ducting 

1 Airtronic D5 heater - 12V (25.2361.05)   

1 Long harness D2/D4 (assembly required) 10 m Flex air hose, 90mm inner diameter 

1 Digi-Max D-1000 Controller 6 m Flex air hose, 75mm inner diameter 

1 Inside cargo bracket 3 Outlet, 75mm closable 

1 Warranty registration flyer 3 Adaptor for Y & hose con. 90-75mm 

1 Marine air heater install manual 3 Y piece, 90 mm plastic 

1 Parts list Airtronic 5 1 Adjustable grill 90+100mm 

  1 Air inlet safety screen, 75mm 

 Fuel System 1 Hose flange, 90mm 

  1 Open screen, nickel plated 

1 Fuel pickup pipe 2mm, 26"   
1 Compression fitting, 1/4 NPT  Installation Hardware 

7.62 m 1/8" Copper tubing   
2 m 3/16" Copper tubing 1 Grommet, D2/D4 Airtronic 

1 FMP angle bracket - aft 2 Bolt, M6 x 20 

2 FMP angle bracket 6 Nut, M6 SS 

1 FMP holder for noise reduction 4 Washer, lock M6 SS 

1 Marine Fuel Supply Parts ISO 7840 4 Screw, TEK HEX 1/4 x 2" 

  4 Screw, TEK HEX 1/4 x 1" 

 Intake & Exhaust 6 Screw, TEK HEX 12-24 x 7/8"  

  8 Screw, self drill 3.9x19mm PHL 

1 Hose, combustion air intake 25mm x 1m (1" x 3") 20 Cable ties, 197mm 

1 End cap w/bar, 25mm plastic 1 Exhaust clamp w/ nut, 26-28mm 

3 m Exhaust - 30mm flex SS 1 Clamp, 20-32 mm 

3 m Exhaust sleeve, 2" 3 Clamp, 'C' Type 28mm galvanized 

1 Exhaust pipe w. drain, 30mm 10 Clamp, "C" type 10mm w/ rub 

1 Exhaust drain coil 9 Clamp, 060 84mm-108mm 

1 Thru-hull fitting, 30mm 6 Clamp, 044 59mm-83mm 

1 Slotted exhaust conn., 24-30mm   

    

    

    
 


